

THE SCHOOL BOARD OF SARASOTA COUNTY, FLORIDA

MATERIALS MANAGEMENT DEPARTMENT

101 OLD VENICE ROAD

OSPREY, FLORIDA 34229

TELEPHONE (941) 486-2183

FAX (941) 486-2188

MEMORANDUM

TO: Members of the School Board

Lori White, Superintendent

Mitsi Corcoran, Chief Financial Officer

FROM: Pat Black, CPPB, Director of Materials Management

TITLE: APPROVAL TO AWARD BID #0514 FOR FARM FRESH PRODUCE

Bids to provide 'Farm Fresh Produce' were received from three vendors on June 25, 2009. The bid of Sheckler Management was the best low bid meeting the advertised specifications. This bid is for a period of one year with the option to renew for two additional one-year periods. The funds for these purchases are contained in the budget allocated to the Food and Nutrition Services Department.

Requested by: Beverly Girard "Failure to file a protest within the time prescribed in Section 120.57(3), Florida Statutes, or failure to post the protest bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under Chapter 120. Florida Statutes."

Posting Date: 07-14-09

Not to exceed

Fiscal Impact: \$500,000.00

Funding:

Recommended Motion: That the bid of Sheckler Management to provide 'Farm Fresh Produce' in an amount not to exceed \$500,000.00, be approved for award and purchase.

THE SCHOOL BOARD OF SARASOTA COUNTY, FLORIDA

Bid Tabulation: Farm Fresh Produce - Bid #0514

Opened: June 25, 2009 - 2:00 PM

		Sheckler Management			Suncoast Food Alliance		Wong Kai Imports, Incorporated		
Item No.	Description	Unit	Unit Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
1	Blueberries, 12 / 1/2-pints, First Quality	Flat	7	\$16.50	\$115.50	\$22.00	\$154.00	\$29.50	\$206.50
2	Cabbage Green, First Quality	10/Bag	99	\$2.50	\$247.50	\$21.00	\$2,079.00	\$5.50	\$544.50
3	Cabbage Green, First Quality	50/Bag	3	\$7.00	\$21.00	\$105.00	\$315.00	\$18.95	\$56.85
4	Cabbage Red, 10#, First Quality	10#	16	\$2.10	\$33.60	\$21.00	\$336.00	\$6.95	\$111.20
5	Cucumber, 6" minimum, 6 - Count, First Quality	1 6-Count	1544	\$1.80	\$2,779.20	\$5.90	\$9,109.60	\$4.95	\$7,642.80
6	Cucumber, 6" minimum, 50#, First Quality	50# Bag	168	\$6.75	\$1,134.00	\$62.50	\$10,500.00	\$23.95	\$4,023.60
7	Grapefruit Ruby Red, 32 / Count, First Quality	Case	134	\$14.50	\$1,943.00	\$12.00	\$1,608.00	\$19.95	\$2,673.30
8	Grapefruit Ruby Red, 4 / Count, First Quality	1 4-Count	142	\$1.81	\$257.02	\$2.25	\$319.50	\$4.50	\$639.00
9	Lemons, First Quality	Dozen	90	\$1.16	\$104.40	\$5.44	\$489.60	\$4.00	\$360.00
10	Melon - Cantaloupe, 18 / Count, U.S. Grade No. 1	Case	2	\$10.00	\$20.00	\$36.27	\$72.54	\$45.00	\$90.00
11	Melon - Cantaloupe, 9 / Count, U.S. Grade No. 1	1/2 Case	20	\$5.00	\$100.00	\$18.52	\$370.40	\$22.50	\$450.00
12	Melon - Cantaloupe, 2 / Count, U.S. Grade No. 1	1 2-Count	62	\$1.72	\$106.64	\$4.36	\$270.32	\$6.00	\$372.00
13	Melon - Honeydew, 6/Count, U.S. Grade No. 1	1 6-Count	16	\$10.00	\$160.00	\$14.00	\$224.00	\$22.00	\$352.00
14	Melon - Honeydew, 2/Count, U.S. Grade No. 1	1 2-Count	33	\$3.34	\$110.22	\$5.10	\$168.30	\$7.95	\$262.35
15	Watermelon, 2/Count Box, 22 - 26 pounds each, U.S. Grade No. 1	Вох	1338	\$7.00	\$9,366.00	\$13.10	\$17,527.80	\$15.95	\$21,341.10
16	Onions, Red, Jumbo, U.S. Grade No. 1	5# Bag	63	\$1.90	\$119.70	\$31.00	\$1,953.00	\$6.00	\$378.00
17	Onions, Yellow, Jumbo, U.S. Grade No. 1	10# Bag	386	\$2.00	\$772.00	\$12.53	\$4,836.58	\$6.00	\$2,316.00
18	Onions, Yellow, Jumbo, U.S. Grade No. 1	50# Bag	149	\$10.00	\$1,490.00	\$25.62	\$3,817.38	\$22.00	\$3,278.00

Bid Tabulation: Farm Fresh Produce - Bid #0514

Opened: June 25, 2009 - 2:00 PM

				Sheckler Management		Suncoast Food Alliance		Wong Kai Imports, Incorporated	
Item No.	Description	Unit	Unit Quantity	Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost
19	Oranges, Florida, 125/Count, U.S. Grade No. 1	40# Case	932	\$12.00	\$11,184.00	\$9.50	\$8,854.00	\$22.00	\$20,504.00
20	Peppers, Green, Large, minimum 2 1/2", U.S. Grade No. 1	25# Case	167	\$6.75	\$1,127.25	\$57.50	\$9,602.50	\$19.95	\$3,331.65
21	Peppers, Green, Large, minimum 2 1/2", U.S. Grade No. 1	Dozen	783	\$1.68	\$1,315.44	\$9.80	\$7,673.40	\$5.80	\$4,541.40
22	Peppers, RED Bell, U.S. Grade No. 1	Dozen	38	\$2.67	\$101.46	\$9.80	\$372.40	\$8.80	\$334.40
23	Potato, Red, Size B, 50#, U.S. Grade No.1	50# Bag	237	\$12.00	\$2,844.00	\$40.00	\$9,480.00	\$24.00	\$5,688.00
24	Potatoes, White Baking, 10#, U.S. Grade No. 1	10#	132	\$2.90	\$382.80	\$12.50	\$1,650.00	\$8.00	\$1,056.00
25	Potatoes, White Baking, 50#, U.S. Grade No. 1	50#	343	\$14.50	\$4,973.50	\$40.00	\$13,720.00	\$27.00	\$9,261.00
26	Strawberries, 8/1 lb, U.S. Grade No. 1	Flat	600	\$6.00	\$3,600.00	\$20.00	\$12,000.00	\$28.00	\$16,800.00
27	Squash Yellow, 5 - Pounds, U.S. Grade No. 1	5 Pounds	157	\$1.50	\$235.50	\$12.50	\$1,962.50	\$7.95	\$1,248.15
28	Squash Yellow, 20 - Pounds, U.S. Grade No. 1	Case	48	\$6.00	\$288.00	\$30.00	\$1,440.00	\$24.95	\$1,197.60
29	Squash Zucchini, Fancy, 5 - Pounds, U.S. Grade No. 1	5 Pounds	350	\$1.50	\$525.00	\$13.20	\$4,620.00	\$7.95	\$2,782.50
30	Squash Zucchini, Fancy, 20 - Pounds, U.S. Grade No. 1	Case	102	\$6.00	\$612.00	\$41.25	\$4,207.50	\$24.95	\$2,544.90
31	Tangerines, 113/Count, First Quality	Case	829	\$14.00	\$11,606.00	\$13.50	\$11,191.50	\$28.95	\$23,999.55
32	Tomatoes, 6 X 6, 10 - Pounds, U.S. Grade No. 1	10 Pound	422	\$2.40	\$1,012.80	\$11.20	\$4,726.40	\$13.50	\$5,697.00
33	Tomatoes, 6 X 6, 25 - Pounds, U.S. Grade No. 1	Case	1003	\$6.00	\$6,018.00	\$24.55	\$24,623.65	\$28.00	\$28,084.00
34	Cherry Tomatoes, Pint, U.S. Grade No. 1	Pint	1453	\$0.70	\$1,017.10	\$2.10	\$3,051.30	\$4.00	\$5,812.00
35	Cherry Tomatoes, 12 - Pints, U.S. Grade No. 1	Flat	253	\$8.00	\$2,024.00	\$14.00	\$3,542.00	\$28.00	\$7,084.00
			TOTAL:		\$67,746.63		\$176,868.17		\$185,063.35

Bid Tabulation: Farm Fresh Produce - Bid #0514

Opened: June 25, 2009 - 2:00 PM

			Sheckler Management		Suncoast Food Alliance		Wong Kai Imports, Incorporated	
SUM	MARY BID SHEET				'		'	
Α	A TRANSFER TO THIS LINE THE TOTAL FROM THE PRODUCT BID FORM		\$67,746.63		\$176,868.17*		\$185,063.35	
		Unit Cost	Extended Cost	Unit Cost	Extended Cost	Unit Cost	Extended Cost	
В	ENTER YOUR FIXED FEE PER FULL UNBROKEN CARTON: \$x 6,500 CARTONS =	\$3.00	\$19,500.00	\$7.42	\$48,230.00	\$5.00	\$32,500.00	
С	ENTER YOUR FIXED FEE PER FULL BROKEN CARTON: \$ x 3,000 CARTONS =	\$2.50	\$7,500.00	\$7.42	\$22,260.00	\$7.00	\$21,000.00	
D	ENTER YOUR TOTAL COST PLUS FIXED FEES FROM LINES A, B, and C, ABOVE		\$94,746.63*		\$247,358.17*		\$238,563.35	
	Notes	* Addition Correction		* Addition Correction				
Conta	Contact		James Kripp		John E. Matthews		John (Sze Chun) Wong	
Address			PO Box 1196		850 South Tamiami Trail Unit 525		5404 33rd Street East	
			Englewood, Florida		Sarasota, Florida 34236		Bradenton, Florida 34203	
Telephone #			941-474-1471		941-284-3384		941-758-1432	
Fax #		941-473-0108				941-75	58-1036	
Federal ID#		20-3844617		26-2373979		59-2343260		
E-Mail Address			jimk@Sheckler produce.com		john@suncoastfood alliance.com		jwong003@ tampabay.rr.com	
		Recorded by: Peggy Long						
		Witnessed	by: Carol A. Lic	hon				